37.71:
The crux of this problem is the question of simultaneity. To be “in the barn at one time” for the runner is different than for a stationary observer in the barn.

The diagram below, at left, shows the rod fitting into the barn at time 
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, according to the stationary observer.

The diagram below, at right, is in the runner’s frame of reference.

The front of the rod enters the barn at time 
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and leaves the back of the barn at time 
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However, the back of the rod does not enter the front of the barn until the later 

time 
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